MATH 1230: Quiz #1 — SOLUTIONS
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/4‘1 Problem 1: Approximate / (x? — 1) dx using a Riemann sum of 5 rectangles with heights based at:
0

(a) the right endpoint of each subinterval. Include a sketch in your solution.

/2 With f(z) = 2% — 1 and Az = %;
S : .
AX | @ =nden 3 pwine = (13 + 1)+ 1§ + 13 + 1003
- & =
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(b) the midpoint of each subinterval. Include a sketch in your solution.
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fu (22 - Vde S fla)dz = [f(4) + 1) + 12 + £ + £(2)] 2

i=1

= [(—0.96) + (—0.64) + (0) + (0.44) + (0.96) + (2.24)] £ =
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/6 Problem 2: Evaluate f x? — 1dx using the definition of the definite integral (i.e. a limit of Riemann sums).
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The following formulas might be useful: The following formulas might be useful:
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